
1

CROSSRAY GAS KITCHEN
PRODUCT INSTALLATION 

MANUAL

crossray.com.au | 03 9562 3455 | sales@crossray.com.au



1 Install  Casters.

Phillips Head Screw 3/16"x3/8" 
Qty.16

Side Cabinets

2 Install Cart panel.

Phillips Head Screw 3/16"x3/8" 
Qty.2

2



3

4 Install door Bracket.

Countersunk flat  head  
screws 3/16" x 1/2" 
Qty. 4

3 Install Trolley side panels.

Phillips Head Screw 3/16"x3/8" 
Qty.6

Left
Left

Right

Right

NOTE
The bracket mounting holes are OFF centre.
Ensure the correct bracket is used for the corresponding side. 
Right hand bracket-right side panel.
Left hand bracket – left side panel.



5 Install Trolley Rear panel.

Phillips Head Screw 3/16"x3/8" 
Qty.9

6 Install Door Bracket.

4

Countersunk flat  head  
screws 3/16" x 1/2" 
Qty. 4

Rear panel,Down

Rear panel,Upper



7 

Double screw 3/16"x3/8" 
Qty.4

1.

2.

5

Install middle panel.

Install the screws.

Slide in the midde panel.



8 

Phillips Head Screw 1/4X5/8 
Qty.4

1. Pre-install the screws partially on the underside of
the benchtop

(Do not tighten to the end).

2.

6

Install countertop.

Position the pre-installed Screws on 
the cabinet（Handle with care）.



9 

Phillips Head 
Screw 3/16"x3/8" 
Qty.2

Install the sink kit.

Phillips Head 
Screw 3/16"x1/2" 
Qty.8

Please make sure that the brackets are 
installed per the image shown below

7

1
2

3



10 install the sink countertop.

Phillips Head Screw 1/4X5/8 
Qty.4

1. Pre-install the screws partially on the underside of
the benchtop

(Do not tighten to the end).

8



11 

7 finish

Install Door

9

1.Tilt the door and insert to the hole on bottom.

 Tilt the door to an angle.

2.Press the latch on the door, and slide
the door into the hole when the latch is 
flush with the door support piece.

7 finish



12 Sink lid to turn your sink module to a workspace.

10

Illustration of fridge cabinet:
The same assembly instruction is applied on 
the fridge cabinet. Please note that the 
cabinet door is different size from the regular 
cabinet door. and should be installed on the 
right hand side. 



1 Install  Casters.

Phillips Head Screw 3/16"x3/8" 
Qty.16

4B BBQ 

11

2 Install Cart panel.

Phillips Head Screw 3/16"x3/8" 
Qty.2



3 

Phillips Head Screw 3/16"x3/8" 
Qty.6

Install Trolley side panels.

4 Install Trolley Rear panel.

Phillips Head Screw 3/16"x3/8" 
4B-Qty.7
2B-Qty.6

12



5 

Double screw 3/16"x3/8"
Qty.2

13

Install AGA separation panel .

Phillips Head Screw 3/16"x3/8" 
Qty.2



6 Install Doors

14

Install Door－please refer to P9.

Instructions to secure the grillhead on the cabinet.

1. Install the brackets.

Countersunk flat  head  
screws 3/16" x 3/8" 
Qty. 8

Flange Nut3/16" 
Qty.8

7



15

2. Place the grill onto the cabinet, and secure with screws.

Phillips Head Screw M6x15 
Qty.4



16

How to attach the cabinets together？

Phillips Head Screw 3/16"x3/8" 
Qty.4

Washer
Qty.4

Flange Nut3/16" 
Qty.4

1.Put all cabinets together.There are 4 screws, 
two through the top vents, and 2 through the 
bottom vents.

2.Open the door of main cabinet, put 2
screws into the holes to fix with left cabinet as 
below picture shown, insert the screw close 
to the side of hole, as this is the most secure. 

3.Apply above method to fix main cabinet
with right cabinet.

Phillips Head Screw

Washer



How to adjust the height of the caster with leveling glide.

1.1.When you want to move the cabinet, please lift the leveling
glide with wrench as shown on below image (please keep
the leveling glide off the floor 3-5mm).

17

2.When you want to level the cabinets., please use
a wrench (not included) to adjust the leveling-caster.
The maximum height of adjustment is 5-6mm.

3.We recommend you use a spirit level to ensure the middle
BBQ cabinet is level first, then level the side cabinets by 
adjusting the feet.



1717
17

18

4

5

3

15

1

2

6

8

9

11
12

13

14

10

7

Parts Diagram for Crossray Kitchen Side Cabinets



19

4

5

3

15

2

6

8

9

11
12

13

14

10

7

1

16

17

17
18

Parts Diagram for Sink Cabinet

19



20

8

1

5

7

4

6

3

2

3

2

12

9

10

11

Parts Diagram for C4B BBQ Cabinets

13

14

15



KEY DESCRIPTION PART# QTY

1 Cabinet Panel,TOP S0218-28 1
2 Cabinet Panel,Left 1
3 Cabinet Panel,Right
4 Cabinet Panel,Rear Top

5
6 1

10 Bottom Panel
11 Magnet 1
12 Kickboard 1
13 Cabinet Door,Left 1 
14 Cabinet Door,Right 1
15 Casters 4

Cabinet Panel,Rear Bottom

Door Hinge Bracket,Left

6��18-05A
S0218-05B
60218-03
6��18-02

6��18-27A

6�218-01Z

6�167-43

6�218-07A
6�218-07B

6�218-20

1
1
1

1

7 1Door Hinge Bracket,Rght S0218-27B
8 1Middle Panel S0218-06
9 1Door Bracket S0218-11

Parts list for  Crossray Kitchen Side Cabinets

21

6�218-32



Parts list for Sink Cabinet 

22

KEY DESCRIPTION PART# QTY
1 Sink Top S0218-29 1
2 Cabinet Panel,Left 1
3 Cabinet Panel,Right
4 Cabinet Panel,Rear Top

5
6 1

10
11 1
12 1
13 1 
14 1
15 4

Cabinet Panel,Rear Bottom

6��18-05A
S0218-05B
60218-03
6��18-02

6��18-27A

6�218-01Z

6�167-43

6�218-07A
6�218-07B

6�218-20

1
1
1

1

7 1S0218-27B
8 1S0218-06
9 1S0218-11

6�218-32

16 Sink Lid 1 
17 Sink Bracket 2
18 Drain Pink Assembly 1

6�218-30
6�218-31

6�155-38Z
19

Door Hinge Bracket,Left

Door Hinge Bracket,Rght

Middle Panel

Door Bracket
Bottom Panel
Magnet
Kickboard
Cabinet Door,Left
Cabinet Door,Right
Casters

Drain Pipe Assembly 1S0155-38Z



Parts list for C4B BBQ Cabinet

23

KEY DESCRIPTION PART# QTY

1 Middle Cabinet Panel,Top S0218-16 1
2 Rear Bracket 2

3 Bront Bracket
4 Cart Rear Panel

5
6 1

10 Magnet
11 Kickboard 1
12 Casters 1

Cabinet Panel,Left
Cabinet Panel,Right

6��18-35

S0218-36
60218-15
6��18-14A
6��18-14B

6�167-43

6�218-33

2
1
1

1

7 1Bottom Panel S0218-13Z
8 1Cabinet Door,Left S0218-18A
9 1Cabinet Door,Right S0218-18B

6�218-20
Door hinge bracket,Left 6��18-27A
Door hinge bracket,Rght S0218-27B

13
14

1
1

Rear Decoration Panel S0218-4115 1



Thermofilm Australia Pty Ltd
17 Johnston Court Dandenong South, Victoria, 3175 Australia
t: 03 9562 3455  e:sales@thermofilm.com.au

PK000332021AE     Printed 07/2021

24


	28.pdf
	空白頁面
	空白頁面

	25.pdf
	28.pdf
	空白頁面
	空白頁面

	空白頁面
	空白頁面

	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面



